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IIpeaucioBue

Hacrosiee npakTuyeckoe pyKOBOJCTBO MPEIHA3HAYEHO MPEKIE
BCETO s CTyIeHTOB creruaibHocT 1 — 25 01 08 «byxrantepckuit
y4eT, aHanu3 u ayauT» YO «['oMenbCKuil rocy1apCTBEHHBIN YHUBEP-
cuteT uM. Opannucka CKOPUHBDY U COCTOMT U3 JBYX OCHOBHBIX pa3-
nemnos (Units).

Ilepewviit pazoen (Unit 1 «General Problems of Translation») co-
JIEPKUT, BO-TIEPBBIX, TEOPETUUECKUN MaTepuall, OCHOBHOE Ha3Haue-
HUE KOTOPOTro 3aKItovaeTcsi B (POPMUPOBAHUM Y CTYAEHTOB IIPEJICTAB-
JeHus 00 oOIIMX MPUHIIMIIAX MIEPEBO/IA; MPUBICUCHUN UX BHUMAHUS K
OCHOBHBIM SI3IKOBBIM Pa3IHUYUSIM MEXKIY AHTJIMHCKUM U PYCCKUM
A3bIKaMU; O3HAKOMJICHUU OyAyIINX OyXTaJITepOB C MPUEMAMU U CIIO-
co0aMu pelIeHUs] TUMHYHBIX JICKCUUYECKUX M TPaMMaTHYECKUX MPO-
OJieM TpU MEpPEeBOJE C AHIJIMICKOro s3blKa HAa PYCCKUM, a TaKXKe
B Pa3BUTHUM Y HUX HaBBIKOB HCIIOJIb30BaHUS OSTUX NpueMoB. Bo-
BTOPBIX, MepBbIid pazmen (Unit 1) BkiaroyaeT crenuaibHbie TPEHUPO-
BOYHBIE YIIPaKHEHUS 10 TIEPEBOTY.

Teopetnueckuii Mateprasl OObSICHICTCS C MPUBJICYEHUEM KaK Tep-
MUHOJIOTHYECKOU JICKCUKH, TaK U OOIICyMOTPEOUTEIHHOM, MOTOMY
YTO B CIeHaIbHBIX (MTPodeCCHOHATLHO-OPUEHTUPOBAHHBIX) TEKCTAX
UCIIOJIB3YIOTCS SI3BIKOBBIC CIMHUIBI O00MX JIEKCUYECKUX TIIaCTOB.

Bo émopom paszdene (Unit 2 «Practice») mpeacTaBieHbl aHIJIO-
SI3bIYHBIC YKOHOMHYECKHUE TEKCTHI JIJI MIEPEBOA C AHTJIUUCKOTO s3bIKa
Ha pycckuil. Bce TEKCThI B3SThl U3 OPUTMHAIBHOTO UCTOYHHMKA, MO-
CBSIIIIEHHOTO OCOOEHHOCTAM OyXraJTEepCKOro yyeTa B KOMMEPUECKUX
OpraHMU3aIUsIX B aHTJIOS3BIYHOM MHUPE.

JlaHHO€ PYKOBOJCTBO CIEAYET PacCMATPUBATh HCKIFOYUTEIBHO
B KQUECTBE JIOMOJIHEHUSI K OCHOBHBIM y4€OHBIM IMOCOOUSM IO aHTJIUH-
CKOMY SI3BIKY JJISI HES3BIKOBBIX (DaKyJIbTETOB, U paboTa MO HEMY
JOJIKHA MTPOBOAUTHCS MAPAJIENIBHO ¢ Pa0OTOM MO 3TUM OCOOHUSIM.

[IpencraBneHHbIi B MOCOOMHM MaTepHal MOXET HCHOJIb30BaThCA
JUISL ayAUTOPHOM M TOMAITHEeH paOoThI.



Unit 1
General Problems of Translation
(O6mme BONpockHI epeBoaa)

Part 1
Polysemantic words
(MHoOTr0o3HaYHBIE CJI0BA)

Hanbomnee TpyaHbIMU ISl TIEPEBOJA SBISIOTCS aHTIUHCKHAE MHO-
TO3HAYHBIC JICKCEMBI — CJIOBA, UMEIOIINE HECKOJbKO 3HAYCHUN U, CO-
OTBETCTBEHHO, HECKOJIBKO PYCCKHX SKBHUBAJICHTOB, HAITPUMED:

1

— meet (somebody) — sHakoMuThCs (C KEM-11.);

— meet (the needs) — ynoBieTBOpATH (IOTPEOHOCTH);

— meet (the requirements) — BeImoONHATH (TpeOoOBaHUS);

— meet (the deadline) — ykimanpIBaThCs B OTBEICHHBIC CPOKHU

v JIp.;

2

— amount (of production and sales) — o6sem (IIpon3BoOICTBA U pea-
JU3ALMH);

— amount (of assets) — BennurHa (aKTUBOB);

— amount (of revenues) — 06beM (BBIPYUKH);

— amounts (payable under the agreement) — cymmsl (k orurare mo
JIOTOBOPY);

— amounts (receivable under the agreement) cymmbl  (mojieska-
I[1E MOTYUYECHHIO M0 JIOTOBOPY)

u np.l

[TOHSTHO, YTO MPHU MEPEBOJIE MHOTO3HAYHOI'O AHTJIMHMCKOIO CJIOBA
CJEAyeT BBIOpaTh TaKOW €ro 3KBUBAJICHT, KOTOPHIA MaKCHUMaJIbHO
MOJIHO MEPEJAeT 3HAUCHHUE CJIOBAa B JIAHHOM TEKCTOBOM (pparmMeHrTe.
Tak, HECMOTps Ha TO, 4TO HauOosiee YMOTPEOUTEIHLHBIM 3HAUYCHUEM
ciosa liquid sBisercs “kuakuii’, B 3KOHOMHUYECKOM TEKCTE JTa JICK-
ceMa, BEpOSTHEW Bcero, OYyJIeT HMETh PYCCKOE COOTBETCTBHUE

! Muorue MPUMEPBL, IPUBOJUMBIE B IaHHOM NMPAKTUYECKOM PYKOBOJICTBE, a TAK)KE HEKO-
TOpBIC TpeIaraeMble YIMPaKHEHUS B3ATHl U3 HECKOJIBKHX HCCIEIOBATEIBCKUX U y4eOHO-
METOIUYECKUX PaboT, MOCBAIIEHHBIX OCOOEHHOCTSIM MEPEBOIa aHTJIOS3BIYHOM JIEKCUKH |35, 6,
8], B ToM uncie u skoHOMuUYeckoi [1, 3, 4, 7].



‘mukBUAHBIN (cpaBHuTe: liquid assets — ‘NMMKBUIHOE HMYIIECTBO’,
‘nmukBuAHBIE akTUBBL VS. liquid metal — “xuaxuit meTamr’).

Kpome toro, riaron to offer B skoHoMHYecKOM TEKCTE Yalie yro-
TpeOseTcs B 3HAUCHUH OKA3bl8amb (conpomusienue), a He npeona-
eamsp, THATON to attack — npucmynums K peuwienuro (3aoauu), a HE
Hanadamyo, Tiaron 10 happen — oxasvlieamuvcs, a HE npPoOUCXOOUMD,
cayyatHo okazamoucs, 10 run — ympasnsams (kKomnanuet), a HE Oe-
acamv/becameb. Chain management monitors the enterprise relation-
ships to get the information necessary to run the business. — Omoen
OpeaHu3ayuu NOCmMasKy Ccredum 3a CeA3AMU NPeonpusmus, 4moouvl
ROJLY4Ums UHGOpMayuro, He0OXo00UMYI0 OJisl YNPABIeHUsL OUSHECOM.

NHTEpecHO OTMETUTD, UTO TEPMUHOJIOTHUECKOE U O0IIeyOTpeOu-
TEJIbHOE 3HAYEHMs CJOBa 3a4acTyio KoppenupyroT: addition -
1) npubaBnenue, 2) IpUpPOCT, yBelMueHue (3a mepuon); structure —
1) cTtpykTypa, 2) opraHm3aniioHHas CcTpykrypa; loss — 1) moreps,
2) yosiTOK; performance — 1) BelmosHeHHUE, 2) pe3y/IbTaT, TOKa3aTeib
NeAaTeIbHOCTH; management — 1) ympaBnenue (mporiecc, QYHKIHS),
2) PYKOBOZCTBO (OpraH yrpaBJICHHS).

TakuM 00pa3oM, HYKHOE 3HAYEHHE CIIOBA CIIEyeT MOAOUpaTh
C ONOpoOW, BO-TIEPBBIX, HA CHEIUATbHBIC 3HAHHUS 10 SKOHOMHKE,
BO-BTOPBIX, HA 3HAHME SI3bIKA, B-TPEThUX, HA KOHTEKCT, B-UCTBEPTHIX,
Ha OOIIYIO SPYIUIINIO, U, B-TIATHIX, HA CIIOBAPHYIO CTATHIO (pPEeUb HJIET
00 UCIOJIb30BaHUU KaK MEPEBOIHBIX, TAK U TOJIKOBBIX CIIOBapei).

YupaxxHeHust

Yup. 1. Ilpueeoume ocnosuvie pycckue IK6usanieHmul c1edyio-
wux MHO203HAYHbIX AH2TUIUCKUX C108.

Hmerowue moavko obweynompeoumebHvie 3Ha4eHus. another, as,
either, like, since, appear, treat, thing, case, way.

HMeiou;ue KdakK 06u;eyn0mpe6umeﬂbﬂble, maxk u mepmuHojiocuude-
ckue 3nauenus. interest, rate, merger, security, value, bonds.

Yup. 2. Ilepeseoume na pycckuil A3vlK ciedyroujue npeosiodice-
Hus, ooOpawas ocodoe sHUMaHUue HA 8blOEICHHbIE C1064.

1. The interest rate appeared very low.

2. He was treated like any other patient.



3. Collateral is a security which a borrower gives to a creditor to
guarantee repayment of a loan.

4. Investment banks deal with takeovers and mergers.

5. Since the equipment was not delivered, we had to fax an enquiry.

Yup. 3. Boioepume 6071ee nooxooauiuii nepeeoo 6vlOe1eHHO20
MHO203HAYHO20 C1064.

Monetary policy — ‘monuc’ nau ‘moautuka’?

aggregate demand — ‘tpeboBanme’ mim ‘crpoc’?

monetary creation — ‘sMuccHs/BBITYCK’ WM ‘CcO37aHKE’?

real money — ‘peasibHbIC’ WIIM ‘HAJIMYHBIC ?

Yup. 4. Haiioume nooxooauwjue pycckue 3K6UaieHmul 01 cjie-
OYIOUUX AH2TUICKUX C/1086.

Kind

1. She is a very kind woman. 2. | like different kinds of music.
3. Exercises of this kind are very popular. 4. He had a kind face.
5. They sell all kinds of things. 6. This kind of behaviour is not ac-
ceptable. 7. What kind of camera do you want to buy? 8. Will you be
so kind to close the window? 9. He has always been kind to people.
10. 1 don’t feel like going out.

For

1. Nobody can do this for you.

2. Here’s a letter for him.

3. What are you waiting for?

4. \We’ve been here for 2 hours already.

5. I have to study hard, for | want to pass my exams successfully.

6. You have to do it for the sake of your children.

Part 2
Translation of Word Combinations
(ITepeBOa CI0BOCOYETAHMIA)

B nmanHoM pasnenie peub HAET O CIOBOCOYETAHUSIX, COCTOSIIIUX
u3 08yx umen cyuwecmeumenstsix («<Noun + Noun»).

[Ipu mepeBojie TaKUX CIOBOKOHCTPYKIIMN HA PYCCKHIl SI3bIK MOTYT
MPOUCXOJIUTH CIEAYIOIINE U3MEHEHHUS:



1) u3MeHeHHe MaCKHONH (HOPMBI OMPEACISAIONICTO CYIICCTBUTEITb-
HOTO (3aMeHa (POpMbI IMEHUTEIHHOTO Maie’ka Ha POPMY POIUTEITHHOTO
nazexa): risk figure — mokaszarens pucka; capital market — ppIHOK Karmm-
TaJia; tax rate — craBka Hajora; purchase price — rieHa mpuOOPETCHUS;

2) U3MCHEHHUE TaJIC)KHON (hOPMBI OIPEACTISIONIETO CYIIECTBUTEIBHO-
IO B COYCTAHUM C BBEICHUEM TIpe yTora: INCOme tax — HaJior Ha IPHUOBLIb;
sale tax — Hasor ¢ mponask; market position — moyioykeHHe Ha PHIHKE;

3) nu3MeHeHue 4uciia (STUHCTBEHHOE YMCIIO MEHSIETCS Ha MHOMKe-
CTBEHHOE) OJIHOBPEMEHHO C M3MEHEHHEM MaJiekHOU (opMbI (B TOM
yHclie ¢ BBeJACHUEM mpemiora): order inflow — mocrymieHue 3aka3os;
share issue — smuccus akuuii; share turnover — odopor akmmif; share
subscription — moanucka Ha akmuu; profit and loss account — otueT o
IpPUOBLIAX U yOBITKAX.

Kak BUAHO, aHTTIUHCKUE TEPMUHOCOUYETAHUS, COCTOSIINE U3 ABYX
uMeH cytiecTBUTEIbHBIX («Noun + Nouny), Kkak npaBuiio, IepeBOIAT-
Csl Ha PYCCKHH SI3BIK CTPYKTYPOU «UMsI CYNIECTBUTEIBLHOE + UMS CY-
IIECTBUTEJIbHOE B KOCBEHHOM (HE MMEHMTEIIBHOM) Majexke» B pyc-
CKOM $I3bIKE (B TOM YHCJIE€ C TIPEIJIOIOM).

OpHako B psijie CIy4aeB aHTJIMHCKUE COYETaHUS, COCTOSIIUE U3
IBYX MMEH cymecTBUTENbHBIX («Noun + Nouny), MoryT uMeTh pyc-
CKHM DKBUBAJIEHT CO CTpPyKTypon «lIpunararembHoe + cCyliecTBu-
TebHOEY: Market economy — pbIHOYHASI SKOHOMMKA.

B 3akmtoueHue ormMeTuM crienyoiiee. ECu HEKOTOpble TEPMUHO-
coueTaHuss oOpa3oBaHBI Ha OCHOBE IEPBOro 3HadeHHs (accounts
payable — kpeauTopcKas 3aJ0/KEHHOCTB; accounts receivable — ne-
OuTOpCKas 3aI0JKEHHOCTh; Feserve account — pesepBHBIN cuet; Sec-
retary General — rerepanbHbIii cekperapn, Attorney General — I'ene-
pajbHBIN MPOKYPOP), TO ApYyrue — Ha 6aze BTOPOro 3HaA4YCHUs (HAIpH-
mep, profit and loss account— otuer o npuOBLIIX U YOBITKAX).

YupaxxkHeHust

Yup. 1. Ilepeseoume na pycckuii aA3vlK cieoyoujue cjio8ocoue-
manus.

Home assignment, accounting procedures, income statement,
office fixtures, business entity, transaction fee, management skills, com-
pany officer, income taxes, stock exchange, partnership agreement.



Yup. 2. /looasbme c1060, umodvl noiyuunocs ci060couemanue.
Business..., London..., credit..., stock..., discount..., to issue...,
bank..., investment..., interest..., airport ... .

Part 3
Misleading Words
(JIoxHbIE «APY3bs» MEPEBOTYHUKA)

[on J1oscHviMu  «Opy3bamu» nepesooHuKa ToIPa3yMEBAIOTCS
CJIOBA, KOTOPBIC SABJISIOTCS CXOMHBIMHU (110 3ByYaHHUIO/IPOU3HOIICHHUIO,
HAIIMCAHHUIO) B JBYX s3bIKaX, HO HMCIOT pa3Hbic 3HaucHus: decade —
AecsaTuieTHe, accurate — rounslii; fabric — tkane, matepus; complex-
10N — BT JIMIIA H JIP.

B kadecTBe mpuMepa TaKKe MOXKHO MPUBECTH JIOKHBIC «IAPY3bsD»
IePeBOYNKa, UMEIOIIHME TEPMHUHOJIOIMYECKOe 3HaueHHe: accounting
convention (OykBaJIbHO: mpagune OyXTralTepCKOro ydera) — Memoo
oyxranrepckoro ydeta; Utilization of losses (OykBasbHO: ucno.ib30-
éanue YOBITKOB) — nozawenue YObiTKOB; DOOK value (OykBaJIbHO:
KHIDKHASI CTOMMOCTD, CTOMMOCTh 1O OYXTaITepCKUM KHHUTaM) — Oa-
JaHCOBask CTOMMOCTB; Cash in hand (OykBajabHO: JEHEKHBIC CPEICTBA
B PyK€) — JICHEKHbIE CPEACTBA B Kacce; parent company (0ykBaJibHO:
POJUTENIbCKAs] KOMITAHUS) — MATCPUHCKAs! KOMITaHUS.

Takum 00pa3oM, HE CTOUT OJIAraThCs Ha BHEIITHEE CXOJCTBO CJIOB
B PYCCKOM M aHIJIMHCKOM SI3bIKaX, M €CIIM 3HAUYCHHUE CJI0BA BaM HE U3-
BECTHO HaBEPHsKA, JIYUIlle YTOUHUTH €0 B CJIOBape.

YupaxxHeHus

Yup. 1. Ilepeeeoume na pycckuii A3vlK.
Face value, physician, replica, aspirant, fraction, human, familiar,
sympathy, obligation, novel, objective (cym.), pretend, translation.

Yup. 2. Ilepeseoume na an2iuiicKuil A3vlK.
du3uK, perivKa, acnupanT, Gpakiius, T'yMaHHbIN, (aMIIbsIPHBIN,
oOJiuraiiusi, HoBeJlJIa, MPEeTeH10BaTh, YCTHHIN MEPEBOI.



Part 4
Synonyms
(CuHOHUMBI)

BrigenstoT ciemyroniye BUabl CHHOHUMOB;

1) monHbIe/abCOMIOTHBIE — OIMHAKOBO TOYHO TEPEIarolIue 3Haue-
HUE aHTJIMIMCKOrO TEPMHUHA U HE UMCIOIIUE OCOOBIX OTIMYHMH B (PyHK-
[IMOHUPOBAaHWU B TEKCTEe: agreement — coriamieHue, JI0TOBOD;
customer — morpebuTenb, MOKyHaTeNb, kiueHt; debt — monr, 3amon-
KEHHOCTb U T. T1.;

2) HEeTIOJIHBIC/YaCTHYHBIC — HWMEIONIME OJIM3Koe, HO HE TOXIe-
CTBEHHOE 3HaueHue (Survey — o063op, MCClIeIoOBaHKe, OIPOC), CTHIIN-
CTUYECKHE WU JpPyrue OCOOCHHOCTH YIOTPEONCHUsS: HampuMmep,
speak with — Bectn Geceny, OecenoBaTh (OQUIIMATEHO-ICIOBON W
HedTpanbHbI  cTum), talk to — pasroBapuBaTh, IIOrOBOPHUTH
(HEUTpadbHBIM W HEIPHHYKJICHHBIA CTHIIM); TepMHUH Sales moxer
OBITH TIEPEBEICH KaK 00beM npooaddc, 8blpyuKa Om peanusayuu, mo-
sapoobopom (TaK, B OyXTaJIITEPCKOM yU4eTe MPUMEHSICTCSI TEPMUH Gbi-
pyuxka om peanuzayuiu, a B MAPKETUHTE — 00beM Npooaic).

OnHO U TO XK€ TOHATHE MOXKET UMETh CUHOHUMBI B aHTJIMHCKOM
SA3bIK€, HO HE HMMETh B pPYCCKOM (M HAoOOpOT, KOHEYHO), YTO
HATJIAAHO JAEMOHCTPUPYET CIHEAYIOIIMN TPUMEP: €CIUM B aHIJIHAM-
CKOM SI3bIKE€ COCYIIECTBYIOT TepMHUHBI-CHHOHUMBI Short-term liabili-
ties (‘xpatkocpounbie oOsi3aTenbcTBa’) M current liabilities (Oyk-
BAJILHO: ‘TEKyIIUE 0053aTeNbCTBA’), KOTOPhIE YMOTPEOIAIOTCS Kak
B3aMMO3aMEHIEMbIC MPU COCTABJICHUU OyXTajaTEepCKOro OajaHca, TO
B PYCCKOM s3bIke 00a TepMHHA (COTJIACHO YKECTKO periaMeHTHPO-
BaHHOW CTpPYKType OamaHca) MEPEBOIATCS KaK «KpaAmKOCPOUHbIE
obs3amenbcmea.

JIF0OOTIBITHO OTMETHUTH CIEAYIONIEee HECOBMAACHUE aHTIIMICKOTO U
PYCCKOTO SI3BIKOB TIPH HCIIOJIb30BAHUM CHHOHMMOB. B aHTIMiickom
A3bIKE€ PACTIPOCTPAHEHBl TaK Ha3bIBa€MbIC MapHble CUHOHUMBI. [Ipu
MepPeBOJIe OJIMH M3 HUX MOXKET 0e3 yiiepOa JJisg CMbICIa OMyCKAaThCS:
The work was done and accomplished in time (Paboma 6wvina eévino-
Hena 6ospems). Tak Kak TapHbIC CHHOHMMBI JYOJUPYIOT MHGpOpMA-
IIUI0 ¥ HE HECYT HUKAKOM JOIMOJHUTEIHLHON HArpy3KH, OT OJHOTO W3
HUX MOYKHO CMEJIO OTKa3aThCA.
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YupaxxHeHus

Yup. 1. Coeounume cnoea ¢ wacmu A ¢ ux cunonumamu ¢ ya-
cmub.

A.To purchase, revenues, commissions, a loan, by chance, since
(rak xak), institution, thanks to, because of, influence, to talk to some-
body.

B. Owing to, due to, fees, to buy, for, income, a credit, impact, to
speak to somebody, establishment, by accident.

Yup. 2. lloobepume HenoHblil/uacmMuyHblil CUHOHUM K 6blOe-
JICHHOMY npujiazamelbHomy, umoowvl uzdercamo KamezopuuHocmu
u pesxozo | 2pybozo 3eyuanus.

— stupid thoughts;

— an idiotic facial expression;

— afurious girl;

— disgusting dinner;

— astubborn kid;

— astinky room;

— an ugly woman;

— a brash observation;

— a cheeky boy;

— blockheaded men.

Part 5
Non-equivalent VVocabulary
(be33KBHBaJIeHTHAasI JIEKCHKA)

PaccMoTpuM NaHHYXO TEMY MCKIOUYUTEIBHO HAa NMPUMEPE SKOHO-
MHYECKOM JIEKCHKHU.

K 0€33KBUBaJICHTHOW TEPMUHOJIOTUM MBI OTHOCUM JIBa BHJAa aH-
TJIMACKUX TEPMUAHOB:

1) TepMHHBI, MMCHYIOIINE SBIACHUSA (TOHATHS), OTCYTCTBYIOIIHUC
B OTCUYSCTBEHHOH SKOHOMHYECKOW JIEMCTBUTEIBHOCTH: Ccustodian,
temporary difference, valuation allowance u ap.;

2) TSPMHUHBI, UMCHYIOIIIME SBJICHUS, HEAABHO MOSBUBIIHECS B OTE-
YECTBEHHOM JAEHUCTBUTEIBHOCTH, HO IO CUX MOp HE C(hOpMHUPOBABIIINE
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OTJICTIbHYIO KaTeTOPUIO B MOHATHIHOM arapare COOTBETCTBYIOIIECH
npodeccuonansHoi chepnr (dilutive securities — 1eHHbIe Oymarw,
pa3BOIHSIONINE KanmuTa, group voting — roiocyronye akiuy IPyIIbI
(koMmanuii); mortgage backed liability — o6s3arenscTBa, obecmneueH-
HBIC 3aJ10r0M HeaBuxumMoctu; parent holding — akuuu B coOCTBEHHO-
CTH MaTepUHCKON Kommanuu; termination income benefit — nenexxnoe
nocoOue, BHIIJIAYNBAEMOE 10 UCTCUCHUH CPOKa ICUCTBHUS TOTOBOPA).
be33KBUBAIEHTHYIO JIGKCUKY TIEPEBOJIAT CISAYIOIIMMH CIIOCOOaMU:

1) mogGopom OJIM3KOro MO 3HAYEHUIO PYCCKOTI0 TEPMUHA;

2) ¢ IOMOIIBIO TPAHCKPHUIIIIUK/TPAHCIUTEPAINN;

3) myTeM KaJbKHPOBAaHHUS;

4) ¢ TIOMOIIBIO OMUCAHUS (TOJKOBAHUS, Pa3bICHCHUS ).

OO0paTuMCs K KaKJIOMy U3 3TUX CIIOCOOOB.

1. Iloobop 6au3K020 NO 3HAUEHUIO PYCCKO2O CO8A UL CLOBOCO-
YyemaHusl.

Tak, anrnuiickuii Tepmun discontinuity MoskeT OBbITH TEpeBecH
CJIOBOCOUCTAHUCM NpeKpaujerue 0essmeibHOCmu.

2. Tpancxkpunyus | mpanciumepayus.

Yrto kacaetcst TpPaHCKPHUIILIUK, TO OHA YMECTHA, HAIIpUMED, TIPH Tie-
peBoJie TepMHHA 0UtsOUrcing, o0o3HadYaIOIMIEro IMepeaady BBITOJTHE-
HUSI XO3SMCTBEHHOW omepanuu JApyrol opraHuzanuu (¢ Ieblo
YMEHBIIICHHUSI PAcXOJI0B M KOHIICHTPAIIMM HAa OCHOBHBIX BHUJAX JCs-
TEIBHOCTH). ITO 00YCIOBICHO TEM, YTO TEPMHUH OULSOUrCIng He mMe-
€T PYCCKOT0O AKBUBAJICHTA, TaK KaK 0003HAYaeMbIii UM MEXaHHU3M, HE
CTOJIb JIaBHO PaCIpPOCTPAHUBIIMNICS 3a pyOEKOM, MOKa MPAKTUUYECKHU
HE UCTIONB3YETCS OTE€UCCTBEHHBIMHU MPEATPHUITHIMHU.

3. Kanbkuposanue — OYKBAJIbHBIA TIEPEBOJI COOTBETCTBYIOIICH
SI3BIKOBOU € TMHUIIGI.

— basic earnings per share (éazoestit noxon Ha OnHY aKIuio, 03
y4eTa ApoOJICHUS aKIUii);

— diluted earnings per share (ymenbuiennstit 8 pe3ynbrate Apo0O-
JICHUS aKITUH/pa3BOJHEHHBIN JOXO0/ HA OJHY aKIIHIO).

DOTH Ke CJIIOBOCOYETAHUS MOKHO TMEPEBECTH M IO-APYrOMY, XOTS
B OTEUYECTBCHHOM TPAJAMIIMM TAaKOW MEPEBOJ MOKA HE 3aKpEMuics U
Hy)KJIaeTcs B komMeHTapuu: basic net profit per share — uucmas 6a-
30Basi MPUOBLIb HA OAHY aKIuio (0e3 yuera ApoOsIeHUs], Pa3BOIHEHUS )
u diluted net profit per share — pazeoonennas ducras npuOBLLIL
Ha OJHY aKIui0 (YMEHBIIIEHHAs B pe3yJibTaTe JPOOJICHUS aKIIni).
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B cBoro ouepens, Tepmun dilutive securities MoxHO rmepeBeCcTH Kak
yenHvle Oymazu, pazeooHsouue Kanuma.

[IpuBeneM ele HECKOJBKO MPUMEPOB, YTOOBI MPOJAEMOHCTPUPO-
BaTh MPUEM KaJIbKMpOBaHUS B jaeiicTBuu: temporary difference — Bpe-
MeHHas pasnuiia; identifiable assets — naeHTHdHUIIpYyeMble aKTHUBBI;
unremitted earnings — HeoriaueHHsle goxobl; unrealized gain — He-
pealin30BaHHas IPUOBLIG U T. II.

Crnemyer oOpaTUTh BHUMAHHKE, UYTO TPU KAJTBKUPOBAHUU MOTYT HC-
MOJIb30BAThCSl TpaMMaTHUCCKUE M JICKCHYECKUE TpaHC(hOopMaIuu:
dilutive effect — apdexr pasBogHeHUs (3aMEHA YaCTH PEUYU: UMsI MPH-
jarateJapHOe — UMS CylecTBUTENbHOE); translation risk — Tpancsiu-
OHHBIM PHCK (3aMEHA YaCTH PEUU: UM CYIICCTBUTCIIBHOES — UMS MPH-
naratenbHoe); valuation allowance — oneHo4HBI# pe3epB (3aMeHa va-
CTH PEYH U JICKCHYECKasi 3aMeHa) U T. II.

4. Onucamenvhbiil Memoo

ITpu niepeBoe TepmuHoB listed company (kommaHus, akIMK KOTO-
poii mpojarorcs Ha (onmoBoi Oupke) u publicly traded company
(KkoMITaHUs, aKIMM KOTOPOW MPOJAIOTCS Ha BHEOUPIKEBOM PBIHKE)
MOJKHO MCITIOJIb30BaTh OIMCATEIBHBIN MEPEBOJI, TaK KaK B PE3yJbTaTe
KaIbKUpOBaHUS Oblla Obl OOpa3oBaHa JIEKCUKO-TpaMMaTHUYeCKasl
CTPYKTYypa, He MO3BOJISAIONIAS aeKBAaTHO IMepeaaTh 3HAUYCHUS TePMHU-
HOB (c80000HO npooasaemas KOMNAHUs WA KOMRAHUS, 8blCHAGIIEH-
HAsl HA BHEOUPIICEBOUL PLIHOK).

B kauecTBe TEepMHMHOB, TPEOYIOLIMX OMHCATEILHOIO IEPEBOJA,
MOJKHO TIPUBECTH CICAYIOIIUE JeKkcudeckue eauauibl: holding gain —
J0XO0JI OT YBEIIMYEHHMs CTOMMOCTH aKTHBOB; purchase commitments —
00s13aTeNbCTBA TI0 OIIaTe pa3MEIICHHBIX 3aKa3oB; Stock option plan —
HporpamMma JIbFOTHOTO MPUOOPETEHHMS TEPCOHATIOM aKIIUKA KOMIIaHHH.

YupaxxHeHus

Yup. 1. Ckaxxcume, kakue memoosvl UCNO1b306AHbL HPU NEPEBOOE
C1e0YIOUUX C/106 U C10BOCOYECMAHUIL.

— fat cats — Oorarelii peAnpUHUMATEIb, PHHAHCUPYIOITUH N30H-
paTeNIbHYIO KaMIIaHUIO;

— bachelor of arts — 6akanaBp uckyccrs;

— pub — mao6;
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«Some like is Hot» — «B mkase TONBKO IEBYIIKHY;
«Legally Blond» — «bimonaunka B 3aK0HE;

prime TV time —18.00-20.00 B CIIIA;
modern Grades — B Okcdope Kypc, BKIIOUYAIOIINNA BaKHEHIIINE

COBPEMEHHbIE AUCIUIUIUHBI: COBPEMEHHYIO (HhUII0COpHI0, MOJUTUKY
Y SKOHOMHUKY;

drive-in — aBToKMHOTEATD;
black-out — pamuopeknama B (opme auaiora ¢ dJIEMEHTAMH

IOMOpa;

customer acceptance — npueMJIEMOCTb TOBapa s MOKYIIaTEes;
sale-leaseback transaction — cnmenka mo mpomake HMMYIICCTB

HCBO3BPATHOI'O JIM3HUHI'A,

termination income benefit — nenexxHoe mocobue, BHIIIIAYMBa-

€MO€ I10 UCTEUYECHUHU CPOKA JICUCTBUS JOrOBOPA;

«baHK 0 AMepukay;
«JlKeHepal JIEKTPUK KOMITAHUY;
«JIxenepan MoTOpCY;

cab — k90.

Yup. 2. Ilepeseoume na coomeemcmaeyrouiuil A3vlK.

M,

Oopui;
IIOTOpEJIeLL;
IPY>XKUHHUKH,
drugstore;
know-how;
muffin.

Part 6
Translation of Phraseological Units
(ITepeBoa ¢ppazeos10ru3mMoB)

®pa3eonoru3mMbpl — YCTOMYHMBBIC CIIOBOCOUYCTAHHS, BOCIPHHHUMALO-
IMecs Kak eIMHOE 1eJI0¢:

Break a leg! — Hu nyxa, nu nepa! Yoauu!

Lion’s share. — Jlbsunas oos.
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The game is not worth the candle. — epa ne cmoum ceeu.

[Tpu orcyrcTBUM (Hpa3eoIOTHUECKOr0 CIOBaps 3HaueHue ¢paszeo-
JIOTU3Ma MOKHO HAWTH B OOJIBIIIOM aHTJIO-PYyCCKOM ciioBape. Hampu-
Mep, 3HAuCHUE YCTOMUMBOIO BBIpakeHUs Take your time wumem o
cymiecTBUTeNIbHOMY time: ‘He criemu’ (10ci.: 603bMmu c6oe 6pemsi).

AHrIuckuii ppazeonorusMm MOXET HE UMETh PYCCKOTO SKBUBA-
JICHTA.

B 3TOoM cnydae mepeBOAYMK MOXKET BOCTIOIB30BATHCS OHUM M3
CJICTYIOIINX CITOCOOOB Mepeaadn CMbICTA:

1) momoOpath pycckuii (pa3eosoru3m, KOTOPBIH MO CMBICTY aHa-
normueH aHriuiickomy: He won’t put the Thames on fire. — On 36e30 ¢
Heba He xeamaem,

2) onucaTeNbHBIN/Pa3bICHUTEIBHBINA TMEPEBOJ, MEPEAArOIINi 00-
I CMBICT JAHHOTO BBIPAXKEHUS C TOMOIIBIO OOIIEYyIOTPEOUTENh-
HOM JIEKCUKH M, TAKUM 00pa3oM, YCTYHAIOIIHNKI MOTMHHUKY 10 SIPKO-
ctu: red herring (across the trail) aro-mnbo, cOuBaromee co ciena’,
'HaMEpPEHHO OTBJIEKAIOIIECEC BHUMAHUE, OTBICKAOIINN MaHEBP' (IOCI.:
KpacHas cejeka (Ha myTH); (cp.: oums 6axnywu — to idle time);

3) UCIOIB30BaTh OYKBaJIBHBIN/TOCIOBHBIN TepeBO] (KaJbKHUpPOBa-
HUE), €Clii OH OyJAeT IMOHSATEH HOCUTENIO JAPYrod KynbTyphl: Better a
witty fool than foolish wit. — Jlyuwe ymusiii oypax, wem enynwiii myopeuy.

YupaxxHeHust

Yup. 1. lloobepume pycckue coomeemcmeus caedyrouiux am-
2IUUCKUX (hpa3eo102u3zmos.

1. A little bird told me (If someone doesn’t want to say where they
got some information from, they can say that a little bird told them).

2. A picture is worth a thousand words (A picture can often get a
message across much better than the best verbal description).

3. All ears (If someone says they’re all ears, they are very interest-
ed in hearing about something).

4. Back to the salt mine (If someone says they have to go back to
the salt mine, they have to return to work).

5. Still waters run deep.

6. To wear one’s heart on one’s sleeve.

7. Custom is a second nature.
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Yup. 2. Ckasxcume, Kakoii cnocod nepesooa hpazeonocuzma uc-
noJib3064H.

1. One man’s meat is another man’s poison. — Uro ajs ogHoro ena,
JUISL IPYyToro 1.

2. An apple a day keeps a doctor away. — JIyk oT cemMu HEIIyT.

3. An apple a day keeps a doctor away. — Emrb 1mo s10;10Ky B JIeHb, U
Bpauy He OyAeT paboThI.

4. When at Rome, do as Romans do. — Korma maxomgumscs B Pume,
IIOCTYIIal KaK pUMJISHE.

5. When at Rome, do as Romans do. — B 4y:oii MOHACTBIPh CO
CBOMM yCTaBOM HC XOJAT.

6. Kazanckas cupota. — A self-promotive parasite; a sturdy beggar.

Part 7
Lexical Transformations
(JIekcuueckue TpancdopmMamum)

Takoil cmoco0 mnepeBoAa, Kak JIEKCHUYECKHe TpaHchopMaluu,
MPEANOIIATAET 3aMEHY OTJIEJIbHBIX HHOS3BIYHBIX JIEKCHUYECKUX €IMHULL
(CJIOB M CJIOBOCOYETAHU) JIEKCUUECKUMU €TMHUIIAMH POJTHOTO SI3bIKA,
KOTOpPBIE HE SIBIISIIOTCA KX CJIOBAPHBIMU SKBUBAJICHTAMHU, TO €CTh
MMEIOT MHOE CJIOBAPHOE 3HAYEHHE, OJTHAKO B KOHTEKCTE MPUOOPETAIOT
HEOOXOIUMBIN CMBICI.

MOXHO BBIIEIUTh IIECTh OCHOBHBIX PA3HOBUIHOCTEMW JIEKCHUYE-
CKHX TpaHC(opMaIuii.

1. KoHkpeTn3zamnus — 3aMeHa UHOSI3IYHOTO CJIOBA WJIM CIIOBOCOYE-
TaHUs ¢ OoJiee MHUPOKUM 3HAYEHUEM Ha PYCCKOE CJIOBO MJIU CIOBOCO-
yeTtaHue ¢ Oosee y3kuM 3HaueHueMm: to go (on foot, by train, by plane)
— UOMU NEUKOM, eXxamb N0e300M, Jlememb CAMONEMOM.

2. 'enepammuzanust (0000IIeHNE) — TIpUEM, MPOTUBOIOIOKHBIN
KOHKPETHU3AIMN U 3aKJIIOYAIONIUNCS B 3aMEHE YacTHOrO OOIIUM, TO
€CTh BHJIOBOIO MOHATHS poaoBbiM: He is six foot three tall — mocmos-
HbId niepeBod (On wecmu gymos u mpex owumos pocmy una Owu
190,5 canmumempog pocmy) ObL1 Obl HE YMECTEH, TaK KaK PYCCKOMY
S3bIKYy HE CBOMCTBEHHBI YTOYHEHMS MOJOOHOI0 poja MpHU OMUCAHUHU
BHEIITHOCTH 4YesioBeka. Jlydmuii BapuanT nepeBojaa — OH oueHsb 001b-
woezo pocma [8, c. 25].
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3. loGaBneHue — BBEJCHNUE JOMOJHUTEIBHBIX CJIOB, YTO 00YCJIOB-
JICHO PSAJIOM MPUYHH: PA3IUUUSIMU B CTPYKTYpE MPEI0KEHHUS, OTCYT-
CTBHEM COOTBETCTBYIOIIICTO CJI0Ba B poaHOM s3bike U ap. What drives
the economy at present? — Ymo sensemcsa osusicyuieii cunoi 5K0Ho-
MUKU 8 HACmoswee 8pems?

4. OnyiieHue — siBJICHUE, MPSIMO MPOTUBOMOJIOKHOE JOOABICHHUIO.
[Ipu mepeBoje OMyIICHUIO MMOJBEPralOTCs Yallle BCETO CJIOBA, SIBJISIIO-
ITUecs CeMaHTUYECKH U30BITOYHBIMU C TOYKU 3PEHUST KX CMBICJIOBOTO
conepkanusi. OTHUM U3 MPUMEPOB HU3OBITOYHOCTH SBIISCTCS CBOM-
CTBEHHOE BCEM CTWISAM MHUCHbMEHHON peUYd aHTJIMMCKOTO S3bIKa YIIO-
TpeOJIeHNE TaK HAa3bIBAEMBIX «IIaPHBIX CHHOHUMOBY». PycCKOMY SI3BIKY
OHO COBEPIICHHO HE CBOMCTBEHHO, MOJTOMY IPU TEPEBOJE B ITUX
CIy4dasiXx HEOOXOIMMO MPUOETHYTh K ONMYIICHUIO (T.€. HE MOBTOPEHUIO
CHHOHMMa — 3aMEHe JIByX CJoB oguHuM): Their knowledge was essen-
tial and important for us. — Xx 3uanus 6wi1u eaxcuwl 05 Hac.

5. AHTOHMMHYCCKHI TIepeBoja: Hanpumep, Remember to ask him
about it. — He 3a0yob cnpocums e2o 06 smom.

6. KomrieHcanus — 3aMeHa HEMepeaaBacMoro 3JIeMEeHTa HHOCTPaH-
HOTO SI3bIKa KaKUM-JTUOO JIPYTUM CPEACTBOM, KOTOPBIU TepeaaeT Ty
Ke camyro HH(pOpMaIHio, MpUieM HeoO0sS3aTeIbHO B TOM K€ CaMOM
MECTE TEKCTA, YTO U B IOMIMHHKKE. YOU can’t have no rolls — nBoii-
HOE OTpHUIIaHHE, KOTOPOE SIBISICTCS T'PyOBIM HapyIICHHMEM HOPM aH-
TJIMACKOTO $I3bIKA, MCIIOB30BAHO B JJAHHOM KOHTEKCTE HaMEpPEHHO,
JJIsL CO3/IaHUS OIPEJIeICHHOI0 CTHIMCTUYecKoro 3¢ dekra. UToOsI co-
XpaHUTh 3TOT A PEKT IpH TIepeBOie Ha PYCCKUM A3BIK (711 KOTOPOTO
yIOTpeOJIeHHE JIBOMHOTO OTPHUIIAHUS HE CHOCOOCTBYET MPHUIAHHUIO
0CcO00r0 KOJIOpUTA, TAK KaK SIBJSICTCS TUTEPATYPHON HOPMOI ), MOKHO
UCIIOJIB30BaTh KOHCTPYKIMIO A 0)104K08-mo He Oydem C TETbIO Tie-
peaadn WHIUBUIYaIbHBIX 0COOCHHOCTEH peun roBopsiiero [8, ¢. 30].

7. IlenocTHoe miepeocMbIciieHUE (0OBIYHO UCIIONIB3YETCS MIPU Mepe-
BoJ€ uanoM u nociosuil): blacksheep — 6enas sopona.

YupaxxHeHus

Yup. 1. Ckasrxicume, kakue memoowl 1eKcU4ecKoi mpancgopma-
WUU UCHOIb306AHBI NPU NEPeeode KaAdHCO020 Npeodiodcerus |[5,

c. 169-176; 8, c. 22-31].
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1. Her photo is sitting on my shelf. — Ee ¢otorpadus crout y MeHs
Ha TOJIKE.

2. His limbs were sore. — Y Hero 6omenu pyky U HOTH.

3. Working men and women have the right to strike. — Tpyosuyuecs
UMEIOT MPaBO Ha 3a0aCTOBKY.

4. Please, hold on. — IToxanyiicra, e gewatime TpyOKy.

5. The clock is on the wall. — Yackl 6ucsam Ha cTeHe.

6. Give me your hand. — [laii MHE CBOIO pyKy.

7. 1 'wish, | had the time. — K cokaiieHnro, y MCHSI HET BPEMEHHU.

8. Madame Lamotte was still in front of the Meissonier. — Manam
JIaMoT Bce ele cTosiia nepen kapmuuou Meconvbe.

Yup. 2. Ilepeseoume na pycckuil A3blK, UCROAb3YA AHMOHUMU-
YecKuil nepeesoo.

1. You will not eat your cake, until you finish your soup.

2. 1 will not marry you until Spartak beats Barcelona.

3. ' will not lend you my phone, till you tell me who you want to call.

4. Temioxo HE OTIPABUTCS, MOKA KAIMMTAH HE CIIOET IIECTh MECEH.

5. 51 ne Oyny caxxath apOy3bl, IOKA HE YIYUIIUTCS MOT0a.

6. ToMm He OyzIeT YUCTUTH 3yObl, TIOKa HE HAKOPMHUT CJIOHA.

Part 8
Grammatical Transformations
('pamMmaTnyeckue TpaHnchopManu)

B cBs3uM ¢ TeM, YTO CHHTAaKCHYCCKHE CTPYKTYPHl aHTTIUHCKUX U
PYCCKHUX TPEIJIOKCHHIA HE COBITAJIAlOT, BAYKHBIM MPUEMOM IEPEBO/IA
SBIIAIOTCS epamMmamuieckue mpanc@opmayuu, CyTb KOTOPBIX COCTO-
UT B IIOJIHOM HJIM YAaCTHYHOM H3MEHEHUHU CTPYKTYpPhl aHTJIHHCKOTO
TIPEJIOKCHHSI C LIEIBIO MPUBEACHUS €€ B COOTBETCTBHE HOPMaM PycC-
ckoro si3bika: I’ve got a headache (oocn.: A umero conoenyro 601v). —
YV mens 6onum 2onosa.

HeobxomuMocTh TpaMMaTHYeCKHX TpaHc(opmaluii BbI3BaHA HE
TOJIbKO HECOBMAJCHUEM CHHTAKCHUYCCKHUX MOJICICH aHTIUMHCKOro |
PYCCKOro MpeUIoKeHUH (ITaCCHB NMPOTHB aKTHBA), HO W HAIMYHUEM
OIPEICICHHBIX IPAMMATHUYCCKUX SBJICHUH B OJHOM S3BIKE M HX OT-
CYTCTBHEM — B IpyTroM (TepyHIAu#, meppeKTHbI HHOUHATUB U JIP. ):
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— It is getting cold. — Cmanosumcs xonoono (cp.: UCIONB30BAHKE
(hopMaIbHOrO MOJICIKAIIETO It B aHTTTUHCKOM SI3bIKE M YIIOTpeOIeHNe
O€3TUYHBIX U HEONPEACICHHO-TUYHBIX MPE/TIOKESHUN B PYCCKOM);

— He seems to have forgotten about his promise. — Kaowcemces (a ne
«emy Kaxcemcs»), oH 3a0bl1 0 ceoem odewjanuu (B PyCCKOM SI3bIKE HET
nepheKTHOro MH(PUHUTUBA, YKa3bIBAIOIIETO Ha ACHCTBUE, COBEPIIICHHOE
B TIPOIIUIOM; T€M HE MEHEe, TOT CMBICI, KOTOPhI HECEeT B cebe mep-
dbekTHBI MHOUHUTUB, HEOOXOAUMO TEepenaTh Ha PYCCKUN S3BIK, HC-
TOJIB3YS JIJISl ATOTO TPAMMAaTHYECKYIO CTPYKTYPY PYCCKOTO IpesioikKe-
HUS ¥ PYCCKHE JIEKCUUECKHE YKBUBAJICHTHI U COOTBETCTBHS).

Takum oOpazoM, rpamMmaTHUecKue TpaHCHOpMAIUU 3aKITFOYAOTCS
B MpeoOpa30BaHUM CTPYKTYPHI MPEIJIOKESHHS B Tpollecce INepeBoa
B COOTBETCTBHH C HOPMaMH TIEPEBOTHOTO SI3bIKA.

Huxe npuBOasSTCS HEKOTOPHIE U3 HUX.

1. 3amena. B mporecce mnepeBoja 3aMEHE MOTYT TOJBEPraThCs
rpaMMaTUYeCKue €AUHUIIBI — POPMBI CJIOB (Hampumep, 3aMeHa (popMbl
HACTOSIIIIETO BPEMEHH B TPUIATOYHBIX MPEUIOKEHUSX HA PYCCKUM
SKBUBAJICHTHBIA TJIaros B (opMe Oyayliero BpEeMEHM), 4acTH PEeUH
(HampuiMep, 3aMeHa OTIJIArOJIbHOTO CYIIECTBUTEIBHOIO Ha IJjIaroli
B JIMYHOW (opMe), WICHBI MPEeIIoKeHUs (3aMeHa aHTJIMHCKOM Tac-
CUBHOM KOHCTPYKIIUM PYCCKOM aKTUBHOMW) U T. [I., HAIIPUMED:

— 3aMEHa aHTJMHCKOr0 TacChBa Ha PYCCKOE HEOIpeeIeHHO-
audHOe MM Oe3nuuHoe mpeiokenue): New laboratory equipment
was bought. — Kynunu nosoe obopyoosanue;

— 3aMeHa MH(UHUTHBA Ha JIPYTYIO YaCTh PEYM WJIU IEJBIM MPH/Ia-
TOYHBIM IIpeanokenrem: | have many games to play. — ¥V mens mnoco
uep, 6 komopuwie modxcro nouzpams. 10 tell the truth, he was wrong. —
1lo npasoe 2oeops, o Obvi He npas.;

— 3aMEHa IPOCTOT0 MPEIOKEHUS Ha CIOXHOIIOMUYMHEHHOE: They
didn’t expect us to arrive. — Ouu ne oxcuoanu, ¥mo mvl npueoem.

2. Aumonumuueckuii nepesoo. She didn’t tell us about it until a
year later. — Ona pacckazana nam 06 smom moavko (nuiis) 200 cny-
cms. | wish he hadn’t come. — JKaznw, umo on npuwen.

3. Ilepecmanoeka — N3MEHEHHE PACTIONOKEHUS (TTOPsIAKA CIe0Ba-
HUS1) S3BIKOBBIX AJIEMEHTOB B TEKCTE MEPEBOJA MO CPAaBHEHUIO C TEK-
CTOM TOJJIMHHKKA. Hampumep, anrmuiickoe TpeIjioskeHne, Kak IpaBu-
710, HAYMHAETCS C TOJJICKAIIETO, 32 KOTOPBIM clieyeT ckazyemoe. O0-
CTOATENIbCTBA MecCTa M OOCTOSATEIHCTBA BPEMEHM — TOMEIIAIOTCS
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B KoHILE. Ilopsaaok cloB pyCCKOro MPEMJIOKEHUS HECKOIbKO WHOM:
HA MEPBOM MECTE YaCTO CTOSIT BTOPOCTENIEHHBIE WIEHBI ITPEIJIOKEHUS
(0OcTOsATENILCTBA BPEMEHM M MECTA), 32 HUMHU CJEAYeT CKazyeMoe U
B KOHIIE — MOJIeXaniee. IT0 HE0OOXOJUMO YUYHUTHIBATH MPU NIEPEBO/IE:
«... | realized that a man was behind each one of the books» — «5I mo-
HSJI, 4TO 3a KaXJOW W3 ATUX KHUI CTOUT YEJIOBEK» (aHajM3 JTOro
npuMepa cM. moapobuee B [8, €. 38].

YupaxxHeHus

Yup. 1. Ckaxcume, kaxkoii u3z mpex 0CHOBHbHIX BUO0E PAMMAMU-
YecKuxX mpaucgopmauuil UCnoab306aH NPU nepeeooe Ciedyrouiux
npeonodceHull.

1. I’m a moderate smoker. — I majo Kypio.

2. The sun had got more powerful by the time we had finished
breakfast. — K Tomy BpeMeHH, KaK MbI 1103aBTpaKajd, COJHIIC IIPHUIIC-
KaJIO Y BOBCIO.

3. This was hardly what | intended. — Y mens ObL cOBceM apyrue
HaMEpeHHUSI.

4. She was brought here last night. — Ee npuBesnu croga Buepa Be-
YEpOoM.

Yup. 2. Ilepesedoume 6e3n1uunvie pycckue npeodioHceHus Ha au-
2uiicKue, UCnob3ys popmanvroe noonedxcauiee it.

1. ¥Yxe mectps yacoB Beyepa.

2. X0NOIHO.

3. Bpulo TPpyAHO YTOAUTH €MY.

4. Kak 310pOBO BEPHYTHCS JOMOM.

5. C HUM MHTEPECHO pa3roBapuBaTh.
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Unit 2
Practice. Economic Texts for Translating
(ITpakTUKYM MepeBoa IKOHOMHYECKHX TEKCTOB)

Part 1
Financial Statements
(PuHaAHCOBAasA OTYETHOCTD)

In this part, we will give you an overview of each of the financial
statements, so that you can develop a high-level, introductory feel for
how these financial statements can be read and interpreted.

Text 1
Cash Flow Statement

When Albert started his business, he invested $20,000 ($20K) of his
own money and he borrowed $15k from the bank. In his first day of
business, he used most of this money ($30k) to buy the equipment that is
needed to make furniture. Occupying a rented workshop, his business
makes furniture in response to direct demand from his customers. In his
first year of business, Albert’s cash flow statement was as shown in Ta-
ble 1 (Albert’s cash flow statement for the past financial year).

$k
Cash flow from operating activities 10
Cash flow from investing activities -30
Cash flow from financing activities 35

Change in cash 15
Opening cash balance 0
Closing cash balance 15

Table 1 — Albert’s cash flow statement for the past financial year

The cash flow statement is perhaps the simplest of the financial
statements to understand, because it is just a summary of amounts paid
and received in cash during a period of time.

The basic structure of the cash flow statement is the separate catego-
risation of operating, investing and financing activities. The bottom line
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of the cash flow statement is the organisation’s closing cash balance. In
Albert’s case, the business was started this year, and so the opening cash
balance is zero. The overall change in the cash balance during the year is
$15k made up of $10k generated by operating activities, $30k invested
in equipment and $35k raised in finance to start the business.

Operating cash flows result from trading activities, for example
cash received from customers, or cash paid to suppliers or employees.
A positive overall operating cash flow, such as that achieved by Al-
bert, is a good sign, because it means that the cash received from cus-
tomers exceeds the cash paid out to operate the business.

Investing cash flows arise when long-term assets are bought or
sold. The purchase of land, buildings or equipment is an investing
cash flow. A negative investing cash flow therefore implies grow thin
the operating capacity of the business. This is the case for Albert: he
has spent cash to acquire new equipment. A positive investing cash
flow, in contrast, would mean divestment of assets, and a correspond-
ing shrinkage in the business. Unlike operating cash flow, where a
positive number can be seen as good news, the interpretation of in-
vesting cash flow is ambiguous: a negative number is good news if the
corresponding investment is a wise one, while a positive number
could also be good news if, for example, assets are disposed of at an
attractive price. While investing cash flow does give you an indication
of growth or shrinkage in the operating capacity of the business, it
cannot indicate whether the investment decisions are good ones.

Financing cash flows arise when the organisation transacts with its
providers of long-term finance, for example when cash is received
from the issue of new shares, or when cash is paid out to redeem a
bank loan. As with investing cash flows, the sign of the flow cannot
be interpreted unambiguously. A positive financing cash flow simply
means that new finance has been raised, while a negative number
means repayment of finance. If, for example, a bank loan is taken out
in order to fund a profitable new venture, then a positive financing
cash flow can be viewed in a positive light. But the cash flow state-
ment cannot provide this information. It records whether there has
been borrowing or lending, but it cannot indicate whether these fi-
nancing decisions are good ones.

The categories in the cash flow statement are related to one anoth-
er. For example, if a business wishes to grow its operating capacity,
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meaning that investing cash flows are negative, then this can be
achieved in one of three ways. First, the growth can be achieved or-
ganically by reinvesting positive operating cash flow. Second, the or-
ganisation can borrow, resulting in a positive financing cash flow. Fi-
nally, the organisation can use any existing cash balances that it has at
the beginning of the reporting period, in which case the negative in-
vesting cash flow is matched by a negative change in cash on the bot-
tom line of the cash flow statement. In Albert’s case, $10k is generat-
ed organically through operations and $35k is raised through financ-
ing. The operating capacity of the business grows by means of a$30k
investment in equipment, leaving a closing balance of $15k.

Imagine you were asked to comment on a company’s cash flow
statement. The outline above suggests that you might ask questions
such as the following.

1. Is the company generating positive operating cash flow?

2. Are investing cash flows negative, meaning that the company is
growing? If so, how is this growth being funded?

3. Is the company borrowing, and if so, is the effect to cover nega-
tive operating cash flow, to enable investment, or simply to increase
the company’s bank balance?

Text 2
Income Statement

An income statement has a very simple purpose, namely to record
whether an organisation has made a profit or a loss (hence the state-
ment is often called a ‘profit and loss account’). Similar to the cash
flow statement, an income statement is a summary for a period of
time, such as a year. Albert’s income statement for the first year of his
business was as shown in Table 2 (Albert’s income statement for the
past financial year).

$k
Revenue 75
Cost of goods sold -10
Gross profit 65
Salary -35
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Rent -14

Depreciation -3
Other operating expenses -2
Operating profit 11
Interest expense -1
Profit before tax 10
Tax -3
Profit after tax 7

Table 2 — Albert’s income statement for the past financial year

Our first conclusion from reading Albert’s income statement
comes from looking at the bottom line. Albert has made a profit of
$7k during the current financial year.

The concept of making a profit is very straightforward. It means
that the income generated by an organisation exceeds the expenses in-
curred by that organisation. Equally, of course, if expenses are greater
than income, the organisation makes a loss. In general, income less
expenses equals profit or loss.

Profit is earned over a period of time. In Albert’s case, the profit of
$7Kk is earned over the course of a year. For internal purposes, a com-
pany might report its profit on a monthly basis, while it might report
to its shareholders quarterly, every six months or annually. The period
of time to which the income statement relates is called the reporting
period, and profit is always stated with respect to the reporting period
during which it was earned.

We do not know whether the performance of Albert’s business this
year is likely to be typical of his future performance, or instead
whether it is likely to prove unusually good or unusually bad. So,
while we can conclude that Albert’s business is profitable in the cur-
rent year, we cannot say whether this is representative. We also do not
know, of course, whether Albert is more or less profitable than his
competitors. For this, we will need to see their income statements.

In general, therefore, an income statement for a single period is of
limited use, and more comprehensive information might be sought by
considering other periods of time as well as the financial statements of
competitors.

There is more to the income statement, of course, than the bottom
line. The other lines in the statement are either revenue, expenses or
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subtotals. The first line is revenue. The expenses, in Albert’s case, are
the cost of goods sold, salary, rent, depreciation, other operating ex-
penses, interest and tax. The subtotals are gross profit, operating profit
and profit before tax. The reason for the separate reporting of revenue,
expenses and subtotals is that each of them provides different infor-
mation to the reader of Albert’s income statement, as we can see by
considering each item in turn.

Text 3
The Structure of the Income Statement

In text 3, we are going to analyze the main elements of the income
statement in general and of Albert’s income statement for the past fi-
nancial year in particular (for “Albert’s income statement for the past
financial year” see Table 2 at the previous page).

Gross profit (sometimes expressed as a percentage gross margin)
Is a subtotal in the income statement, equal to revenue less cost of
goods sold. The gross profit from making a sale is the net benefit to
Albert, being the amount that he earns in revenue less the associated
costs of goods sold that he has to incur.

The concept of gross profit is sometimes expressed as a percentage
gross margin. This is gross profit as a percentage of revenue. In Al-
bert’s case, it is 65/75, or 87 per cent. This is a high gross margin,
which means that there is a high net benefit to his business from each
sale that he makes.

Operating expenses include all of the costs of making and selling
furniture, excluding those already charged as costs of goods sold. Very
approximately, these costs can be viewed as fixed, as opposed to varia-
ble. In other words, they remain broadly the same in any given period
of time regardless of the output achieved during that period. In Albert’s
case, even if he fails to make a single sale, he is likely to continue to
pay his employee a salary, he will still be obliged to pay rent on his
workshop and his equipment will probably depreciate at a similar rate.

In the same sense that revenue can be earned during a period with-
out cash necessarily being received in that period, so it is also possible
for expenses to be incurred even if there is no concurrent cash pay-
ment. This is best illustrated in Albert’s case with the example of
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depreciation, which is a measure of how much the value of his equip-
ment has declined in the period, as a result of usage and the passage of
time. This decline in value does not involve Albert spending any mon-
ey. Rather, it involves the loss in value of an asset that Albert already
owns. In effect, he is partially consuming an asset that he has to own
and operate in order to be able to make furniture. For him, it is a cost
of doing business, much like paying rent on his workshop. Both the
depreciation and the rent are expenses, yet only the rent is actually a
cash payment in the current period. In short, expense ad expenditure
are not the same thing. An expense is a loss of value during the report-
ing period, whether this involves spending money (expenditure) or
consuming assets (in Albert’s case, depreciation on his equipment).

Operating profit is a measure of the gain that Albert achieves by
making and selling furniture. This gain will be split three ways. First,
Albert will pay interest on the money that he has borrowed from the
bank. Second, he will pay tax. Third, the remainder of the profit he
will keep for himself. Operating profit is an important subtotal be-
cause it measures the total gain made by operating a business, in this
case in the furniture industry, out of which distributions can be made
to providers of finance and to the government.

Interest expense is the cost of borrowing money from the bank.
Albert initially borrowed money from the bank in order to invest in
equipment and other assets. This investment generated an operating
profit, and now some of that profit must be allocated to paying the
cost of borrowing.

Profit before tax is the surplus of operating profit over interest ex-
pense. It is the basis on which the organisation’s tax liability can be
calculated.

Tax, in its simplest form, is calculated as a percentage of profit be-
fore tax. In Albert’s case the tax rate is 30 per cent.

Profit after tax (sometimes called net income) is the ‘bottom line’.
It is the amount made by the owners of the business during the report-
ing period, because it is equal to the total value of the output of the
business, less the total of expenses (including interest and tax) in-
curred to generate that output.

The income statement is the most commonly used and important of
the financial statements. It is helpful, therefore, for you to know how
to respond if asked to comment on an income statement, for which
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you will probably be given information from more than just the cur-
rent year. The outline above suggests that you might ask questions
such as the following.

1. Are revenues increasing over time? Is the change due to a great-
er or smaller volume of output, or to a higher or lower price, or to
some combination of the two?

2. Is this a business with a high or a low gross margin? Is the gross
margin increasing or decreasing over time? Is the change in the mar-
gin due to sales price or to the cost per unit of goods sold? Or is the
margin change the result of a change in product mix, whereby prod-
ucts with different margins are now being sold in different relative
quantities?

3. Are operating expenses increasing over time, and is the rate of
increase faster or slower than that of revenue?

4. Are borrowing expenses increasing over time, and is the interest
cost a greater or lesser percentage of operating profit?

5. Is the tax rate changing over time?

6. Is the company profitable, and is it likely to remain so?

Text 4
Balance Sheet

As described earlier, Albert started his business with some of his own
money, while also borrowing from the bank. He invested in the purchase
of equipment. From the outset, therefore, Albert had both assets and lia-
bilities. Specifically, as shown in Table 3 (Albert’s balance sheet on his
first day of business), he had assets in the form of equipment and cash,
and he had a liability in the form of an outstanding bank loan.

$k
Fixed assets Equipment 30
Current assets Cash 5
Total assets 35
Long-term liabilities Bank loan 15
Total liabilities 15
Equity 20

Table 3 — Albert’s balance sheet on his first day of business
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The basic structure of the balance sheet is that it comprises assets,
liabilities and equity. Assets are items of value that belong to the
business. Liabilities are obligations of the business to make payments
to third parties. The excess of the assets in the business over its lia-
bilities is called equity. This is the owners’ stake in the business. It is
sometimes referred to as shareholders’ funds. This can be summa-
rised as follows:

equity = assets — liabilities (or, more concisely: equity = net assets).

As the balance sheet records the value of the assets and liabilities
in a business, it is a statement of financial position. It can be viewed as
a summary of the wealth that is tied up in the business. In contrast
with the income statement, which records the amount of profit earned
during a period of time, the balance sheet exists at a point in time, and
it records the financial position at that point. The balance sheet is
analogous to the amount held in your bank account at any point in
time, while the income statement is analagous to the interest that is
earned on your account during a period of time.

A balance sheet is always prepared for both the start and the end of
the reporting period covered by an income statement; these are re-
ferred to as the opening and closing balance sheets, respectively.

In Albert’s case, the closing balance sheet in Table 4 (Albert’s bal-
ance sheet at the end of the financial year) states his financial position
at the end of the period covered by the cash flow and income state-
ments in Tables 1 and 2.

$k
Fixed assets Equipment 27
Current assets Inventory 4
Accounts receivable 6
Cash 15
Total assets 52
Long-term liabilities Bank loan 15
Current liabilities Tax payable 3
Accounts payable 7
Total liabilities 25
Equity 27

Table 4 — Albert’s balance sheet at the end of the financial year
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The assets on a balance sheet are split into two categories: fixed
and current. Fixed assets are those that represent the infrastructure of
the business. They are held for the long term. They are employed in
the business to generate revenue over several reporting periods. In Al-
bert’s case, his equipment is a fixed asset. If he owned the workshop,
rather than renting it, then that would also be a fixed asset, as would a
delivery van or a sales office.

Current assets, in contrast, are held for the short term, which is typ-
ically defined to be less than one year. Current assets can be viewed as
part of the organisation’s trading cycle. Albert’s inventory is a good
example. Raw materials are purchased, converted into finished goods,
and then sold, to be replaced by a new acquisition of raw materials.
Raw materials and finished goods are both acquired and disposed of
as part of the organisation’s trading cycle, which is typically very
much shorter than one year, and inventory is therefore a current asset.

Another current asset is accounts receivable (otherwise known as
trade debtors). These are amounts owed by customers to whom Albert
has made a sale, but from whom cash has yet to be received.

There is also a one-year distinction made for liabilities on the bal-
ance sheet. If the liability is expected to be paid more than a year after
the balance sheet date, then it is classified differently from amounts
payable within the year. Albert’s bank loan, which is not short-term, is
therefore classified separately from his tax payable and his accounts
payable, both of which will be settled within the year. Accounts paya-
ble are, in effect, the opposite of accounts receivable. They are
amounts owed to suppliers. In Albert’s case, he may have received de-
livery of raw materials but he has not paid for them (for further infor-
mation see Text 5).

Text 5
Further Analysis of the Balance sheet

In Text 5, we shall continue discussing the issues started in Text 4.

If you look at the assets on Albert’s balance sheet (see Table 4
above), you will find that they are listed in order of liquidity, meaning
nearness to cash.
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Albert does not intend to sell his equipment: this is not an asset
that he wishes to liquidate. Moreover, even if he did decide to sell, he
might not be able to do so very quickly, because there may not be a
very good second-hand market for woodworking equipment. It might
also be the case that he could not get as much for his equipment as he
thought it was worth. The nearness to cash of his equipment is there-
fore remote, and so we would describe this asset as illiquid, while oth-
er assets on Albert’s balance sheet are relatively liquid, and increas-
ingly so as one progresses down the balance sheet to the final item,
cash. The liabilities side of a balance sheet is also ordered in terms of
liquidity. So, for example, a bank overdraft is highly liquid because it
is repayable on demand, while a long-term bank loan is illiquid, be-
cause it is not repayable for several years. In Albert’s case, the loan is
less liquid than tax payable or accounts payable.

Liquidity is important for two reasons. First, an organization needs
to have sufficiently liquid assets in order that it can meet its obliga-
tions as they fall due. Second, greater liquidity implies greater flexibil-
ity. If an organisation has committed all of its resources to highly il-
liquid assets, then it is ill-equipped to cope with an adverse change in
economic conditions. For example, if the assets in question are dedi-
cated to the production of a specific type of product, and if the market
for that product collapses, then the company is neither able to make
money by selling the product, nor able to recover the cash that has
been invested in the illiquid asset. If, in contrast, a company has a
highly liquid balance sheet, then its resources can be quickly and pain-
lessly diverted from one use to another.

A final comment on liquidity, and on the balance sheet in general,
Is that there exist different conventions for the presentation of balance
sheet information. While assets become more liquid as you read down
the balance sheet in Table 4, the opposite can also hold, and you will
find that some companies report their balance sheet items in the re-
verse order. Similarly, while Table 4 reports in a vertical format, with
assets above liabilities, which are in turn above equity, a horizontal
format is also common, for example with assets on one side and with
liabilities and equity on the other. Different subtotals are also common
in practice. You should be aware of this variation in practice, but you
need not be concerned about it. The information is the same, and the
interpretation of that information is the same also; it is simply that the
information can be presented in different ways.
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Imagine you were asked to comment on a company’s balance
sheet. The outline above suggests that you might ask questions such as
the following.

1. Is the business capital-intensive, meaning that it has a relatively
high percentage of fixed assets, or does the business have predomi-
nantly current assets?

2. How liquid is the balance sheet, for both assets and liabilities?

3. How much of the long-term funding of the business comes from
owners/shareholders and how much is from the bank?

Part 2
The Accounts as a Lens on Growth
(OT4eTHOCTH KaK MOKAa3aTe/Ib PA3BUTHS)

Text 1
The Accounts as a Lens on Growth

Part 3 will review several applications of accounting information.
We will start by examining how the accounts shed light on the evolu-
tion of a business over time, in particular what the factors are that en-
able the business to grow.

A first observation is that a business can achieve growth in its as-
sets in either of two ways. First, it can use its existing assets to gener-
ate further assets. This is what happens when, for example, inventory
Is sold for an amount greater than cost: the loss of one asset (invento-
ry) is exceeded by the gain in another asset (accounts receivable or
cash). A business might also have invested in financial securities that
generate a regular interest income, in which case assets grow as that
income is received. Assets might also be used indirectly to generate
further assets, for example where equipment is used in the develop-
ment of a product or service, which leads ultimately to sales being
made to customers and to cash being received. In general, for each of
these cases and more, the profitable employment of assets leads to
growth in assets. This is a familiar conclusion. In Part I, we saw that
profit results from growth in net assets, and so achieving growth by
using existing assets to generate further assets is really just another
way of describing making a profit.
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The second way to increase assets is through external funding, for
example from shareholders or from the bank. If a company issues new
shares, then its cash balance will increase. This cash can in turn be in-
vested in the business, for example to acquire new equipment or in-
ventory, or even to make acquisitions of other businesses. Similarly,
raising a new loan from the bank also increases assets.

The financial statements tell the story of a company’s growth.
Whether a company makes profits and reinvests these to create
growth, or whether it borrows in order to fund the acquisition of as-
sets, it leaves behind a trail of transactions that are recorded in the ac-
counts. As this chapter will show, reading the accounts is akin to read-
ing the story of the company’s growth.

We will start by looking at what the cash flow statement has to say
about growth. The next step will be to consider the effects of cash
flows on the balance sheet, followed by consideration of the impact of
accruals and of the information contained in the income statement.

Text 2
Cash Flow Statement as a Lens on Growth

A simple reading of the cash flow statement provides an insight in-
to whether a company is growing and, if so, by what means. A simple
illustration of this is provided in Table 5, which reports summary cash
flow statements for nine companies, which are named Company A
through to Company I. In each case, there is no overall change in the
amount of cash held by the company during the reporting period. Yet
each cash flow statement tells a different story. Before reading the
next paragraph, take a look at Table 5 and see if you can determine,
for each company, whether there is growth in assets and, if so, by
what means the growth is being achieved.

A B C D E F G H I

$k sk Sk Sk sk Sk sk Sk Sk
Operating cash flow 10 10 10 0O -10 -10 -10 O 0
Investing cash flow -10 O 10 -10 -10 O 10 10 0
Financingcashflow 0 -10 -20 10 20 10 0 -10 O
Change in cash flow 0 0 0 0 0 0 0 0 0

Table 5 — Nine different routes to zero net cash flow
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Operating cash flow is a measure of the difference between cash
received from customers and cash paid out to run the business, for ex-
ample to pay suppliers and employees. It follows that if a company
reports positive operating cash flow, then it is generating a cash sur-
plus from its trading activities. Other things being equal, this will lead
to an increase in assets.

Companies A, B and C are all in this position of generating a posi-
tive operating cash flow, and moreover each generates the same
amount. Each company differs, however, in their investing and i nu-
ancing cash flows.

Investing cash flow is a measure of the value of long-lived assets
acquired or disposed of. If a company reports a negative investing
cash flow, then it is using cash to acquire assets. While this does not
lead to a change in the total value of assets, there is an increase in as-
sets dedicated to the business purpose of the organisation, for example
more buildings or equipment. A positive cash flow, on the other hand,
implies the disposal of assets, and therefore shrinkage in the produc-
tive capacity of the business.

Company A has generated operating cash flow of $10k, all of which
Is reinvested in the business to acquire new assets. While there is no net
increase in Company A’s cash balance, the total value of its assets has
grown. Moreover, it has achieved this growth without the benefit of
additional funding from shareholders or from the bank. It is a success-
ful business that is growing organically. The company could, of course,
have grown even more if it had decided to also raise funds externally.
A bank loan of $15k, for example, would have enabled overall growth
in assets of $25k. The company is perhaps being conservative, because
It is restricting its capacity to grow by using only internal funding.

Company B has also generated operating cash flow of $10k, but in
contrast with Company A, it has not reinvested this amount in the
business but has instead returned it to providers of finance. In other
words, it has either paid dividends, repurchased shares or paid off
bank loans. As a consequence, the total assets of Company B have not
grown: all the surplus that was generated internally by the business
during the reporting period was transferred out of the business and
back into the pockets of shareholders or the bank. While Company B
has traded just as successfully as Company A, it differs because it is a
no-growth company.
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Company C, meanwhile, is scaling down its activities even though
it, too, has positive operating cash flow. Instead of reinvesting in the
business, it has actually sold long-lived assets, resulting in a positive
investing cash flow. The total of operating plus investing cash flow
has been returned to providers of finance, who have withdrawn more
assets out of the company during the period than the company has
been able to generate. The business is possibly near the end of its life
cycle, and while it is still making money, it no longer has opportuni-
ties for profitable investments, such that providers of finance are now
withdrawing their money in order to reinvest elsewhere.

Company D has grown at the same rate as Company A, yet it differs
in that the source of funding for its growth has been external rather than
internal (a financing cash flow rather than an operating cash flow). This
IS perhaps a young business that has not yet been able to generate posi-
tive operating cash flow, yet which is investing in long-lived assets be-
cause it expects them to generate trading surpluses in the future.

Company E might also be a young business, which is incurring
both operating and investing cash outflows as it seeks to establish and
develop its business. The company has no option but to borrow heavi-
ly in order to be able to cover these cash outflows. Company E has
grown at the same rate as Companies A and D but it has only been
able to do so by borrowing more heavily. Investors and management
will be watching future operating cash flows carefully, because these
must become positive for the business to be sustainable.

Company F has the same negative operating cash flow as Company
E, yet its position is perhaps more worrying. The company has had to
raise funds externally in order to cover the cash outflows from its trad-
Ing activities. If this borrowing was from the bank, then it now has a
new loan to repay and interest costs to cover, yet it has no net increase
in its assets, because the cash received from the bank was cancelled out
by the loss of cash from trading activities. There has been no investing
cash flow, suggesting that, unlike Companies D and E, the company
does not have profitable investment opportunities available to it, but in-
stead has to look for a turnaround in trading conditions for its operating
cash flow to improve and for the business to be sustainable.

Company G appears to be in a somewhat similar position to Com-
pany F. Both have a negative operating cash flow, and neither is grow-
ing. While Company F has funded its operations by raising finance
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externally, however, Company G has pursued the alternative option of
selling off some of its assets. This is symptomatic of a business in trou-
ble. It might, for example, have been forced to sell assets because
shareholders and the banks were unwilling to invest any more money in
the business. It might also have raised as much as it could from asset
sales by selling off some of the better-performing parts of its business.
If so, it will no longer benefit from the cash flows that those businesses
generate, and the one-off cash inflow from asset disposals will be offset
in future years by even worse operating cash flows. On the other hand,
it is possible that Company G owned assets that it was not using effec-
tively but that were valuable to others in the industry, in which case the
company’s position would not be so bad. Either way, however, the
combination of negative operating cash flows and positive investing
cash flows suggests the restructuring of a troubled business.

Company H, meanwhile, is also disposing of assets, yet by doing
so it is returning money to its providers of finance. This suggests a
lack of profitable investment opportunities and a winding down of the
business. There does not, however, appear to be any particular cause
for concern; while operating cash flow may not be positive, neither is
it negative.

Each of the scenarios in Table 5 is summarised in Table 6 (A sum-
mary of the nine different routes to zero net cash flow)including, for
completeness, the simplest case, Company |, where the net cash flow
is zero in all categories. Table 6 (A summary of the nine different
routes to zero net cash flow) summarises the two main themes of the
discussion above. The first is whether there is growth in assets, in oth-
er words whether investing cash flows are zero. The second is the
means by which growth is achieved, in other words whether internal-
ly, by means of operating cash flow, or externally, by means of fi-
nancing cash flow.

Operating cash flow
Positive Nil Negative
Growth Positive AD E
NilBIF
Negative CH G

Table 6 — A summary of the nine different routes to zero net cash flow
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As you know from Part I, each of the transactions reported in the
cash flow statement is one part of a double entry, with the other part
affecting some other account on the balance sheet. With operating
cash flow, the other account is retained profit, which is a component
of equity. With investing cash flow, the other account is an asset of
some kind, such as land, buildings or equipment. With financing cash
flow, the other account relates to a provider of finance, notably bank
loans or equity (shareholders’ funds). Having reviewed the cash flows,
we will now review the other side of the double entry to which the
cash flows relate.

Text 3
Balance Sheet as a Lens n Growth

I
Table 7(Balance sheets for the nine companies) presents balance
sheets for each of the nine companies discussed above. Table 7 (Bal-
ance sheets for the nine companies)first reports an opening balance
sheet that is common to all companies, and then it updates this balance
sheet for each of the cash flow statements from Table 5 (it is assumed
that there are no other transactions other than these cash flows).

Opening A B C D E F G H I
Sk Sk Sk Sk Pk Pk Sk Sk Sk Sk
Fixed 100 110 100 90 110 110 110 100 90 100
assets
Accounts
receivable 40 40 40 40 40 40 40 40 40 40

-10

Cash 30 30 30 30 30 30 30 30 30 30
;S‘?Steat's 170 180 170 160 180 180 170 160 160 170
Bank loan 45 45 35 25 55 65 55 45 35 45
Accounts o 5 5 5 5 5 5 5 5 5
payable

Total 50 50 40 30 60 70 60 50 40 50
liabilities

Equities 120 130 130 130 120 110 110 110 120 120

Table 7 — Balance sheets for the nine companies
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Before looking in detail at Table 7, you should have a go at prepar-
ing it for yourself. Taking the opening balance sheet from Table 7 and
the cash flows from Table 7, create closing balance sheets for each of
the nine companies, and then compare your answers with those in Ta-
ble 7. For information, it is assumed in Table 7 that the financing cash
flows affect the size of the bank loan and do not have any effect on
equity.

It is obvious from looking at the balance sheets which companies
have grown their total assets and which have not. Moreover, you will
have noticed that the increase in total assets is determined by the level
of investing cash flow. This is because there was no net change in in-
ventory, accounts receivable or cash, and increases in fixed assets
arise from capital expenditure (i.e. investing cash flow). Companies
A, D and E each invested $10k and total assets grew by $10k, while
Companies B, F and | did not invest, and Companies C, G and H dis-
posed of assets.

Total liabilities, meanwhile, increased by an amount equal to fi-
nancing cash flow. This is because there was no net change in ac-
counts payable, and increases in the bank loan arise from new borrow-
ing (i.e. financing cash flow). Companies D, E and F each borrowed
during the reporting period, while Companies B, C and H each paid
down part of their outstanding bank loan.

The final category on the balance sheet, equity, increased by an
amount equal to the operating cash flow. If the financing cash flows
had been between the company and its shareholders as opposed to be-
ing between the company and its bank, then these would also have af-
fected the equity balance. If there had been accruals in addition to op-
erating cash flows, for example if there had been an increase in ac-
counts receivable resulting from sales made on credit, then this, too,
would have affected the equity balance. In this simple example, how-
ever, the only double entry to affect equity results from operating cash
flow which changes the cash and equity accounts on the balance sheet.
In other words, profit is equal to operating cash flow in this example.

1
So far, so good, but what happens if we introduce some additional
real-world complexity to the example? Specifically, what happens if
the fixed assets depreciate? And what happens if there are changes in
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working capital, caused by a change in accounts receivable, or ac-
counts payable? How would each of these affect growth?

Suppose that the fixed asset depreciates by $7k during the report-
ing period. This has no effect on the cash flow statement but for all
companies profit will now be $7k less than operating cash flow and
the book value of fixed assets will also be lower by $7k. The growth
In assets is now equal to the value of capital expenditure (investing
cash flow) less the amount of depreciation. In other words, each com-
pany is required to undertake capital expenditure in order simply to
maintain the productive capacity of the business, and only further ex-
penditure above this level will enable the business to grow. With the
introduction of depreciation, only three of our nine companies (A, D
and E) will now have grown during the reporting period, and even
then only by an increase in assets of $3k, while the total assets of all
other companies will have reduced.

The ratio of capital expenditure to depreciation can be used as an
indicator of growth. If the ratio exceeds one, the company is making
sufficient investment in the business to enable fixed assets to grow. If
the ratio falls short of one, on the other hand, then the level of invest-
ment in new assets is insufficient to keep up with the depreciation of
existing assets.

While depreciation does not itself involve cash flow, it does have
cash implications for a company. If assets depreciate, and if the com-
pany wishes to replace them in order to maintain productive capacity,
then it must increase investing cash outflows, which in turn implies
that it must find cash from somewhere, either by reinvesting a greater
amount of its operating cash flow, by using its existing cash balance
or by increasing financing cash inflows. Among our nine companies,
none of A, D, E, F, G, H or | is able to increase investing cash out-
flows from operating cash flow generated during the period, either be-
cause all of the operating cash flow is already being reinvested (Com-
pany A) or because positive operating cash flow is not being generat-
ed in the first place. In all of these cases, an increase in investing cash
flow would require either a financing cash inflow or the use of some
of the cash that is sitting on the company’s balance sheet. In contrast,
Companies B and C have both generated positive operating cash flow
but they have not reinvested this in the business, and so for these
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companies there remains the possibility of the internally generated
funding of capital expenditure.

Now suppose that, in addition to depreciation, there is also an in-
crease in accounts receivable and accounts payable. What effect do
these increases have on growth?

An increase in accounts receivable implies that income has been
recognised in the income statement but cash has not yet been received.
For each of our nine companies, operating cash flow therefore under-
states trading performance, because the gains from trade are in part
captured by the increase in accounts receivable. In contrast, an in-
crease in accounts payable can be viewed as the opposite of an in-
crease in accounts receivable. An increase in accounts payable implies
the recognition of expenses in the income statement which have not
yet been paid for, meaning that the outflows captured in operating
cash flow understate the expenses incurred by the business.

If we suppose that the increase in accounts receivable for each
company was $9k and the increase in accounts payable was $3k, and
if we also account for the depreciation of $7k, then how would the
balance sheets for each of the companies differ from those in Table
7? The answer is given in Table 8 (Balance sheets with depreciation
and increase in accounts receivable), but before looking at this you
should have a go at preparing the answer for yourself, by taking the
balance sheet for each of the companies and updating them for the
double entries involving depreciation, accounts receivable and ac-
counts payable.

Openng A B C D E F G H 1
$k $k Sk Sk Sk Pk $k Sk $k Sk

Fixed assets 100 103 93 83 103 103 93 83 83 93
Accounts 40 49 49 49 49 49 49 49 49 49
receivable -10

Cash 30 30 30 30 30 30 30 30 30 30
Total assets 170 182 172 162 182 120 172 162 162 172
Bank loan 45 45 35 25 55 65 55 45 35 45
Accounts 5 8 8 8 8 8 8 8 8 8
payable

Total liabilities 50 53 43 33 63 73 63 53 43 53
Equities 120 129 129 129 119 109 109 109 109 109

Table 8 — Balance sheets with depreciation and increase in accounts receivable
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Take a look at Table 8 (Balance sheets with depreciation and in-
crease in accounts receivable), compare it with your own answer and
make sure that you can follow how the discussion above corresponds
to each balance sheet, in terms of the effects of depreciation, accounts
receivable and accounts payable in making the data in Table 8 differ-
ent from those in Table 7.

Text 4
Income Statement as a Lens on Growth

As we have seen, with depreciation, and changes to accounts re-
ceivable and accounts payable, there are changes to the book value of
net assets that are not the consequence of cash flows. There is there-
fore not a complete story of growth provided by the cash flow state-
ment alone. To illustrate this, have a go at creating the income state-
ments for each of the companies. For this purpose, assume that the
cash outflows for operating expenses were $30k for each company,
and the cash inflows from customers were $40k for Companies A, B
and C, $30k for D, H and I, and $20k for E, F and G. Once you have
completed the income statements, compare your answer with that in
Table 9 (Income Statements).

A B C D E F G H I
$k Sk Sk Sk Sk Pk Sk Sk %k

Income 49 49 49 39 29 29 29 39 39
Expenses —-10 -33 -33 -33 -33 -33 -33 -33 -33 -33
Depreciation 7 -7 -1 -1 -7 -1 -1 -1 -7
Profit 9 9 9 -1 -1 -11 -11 -1 -1

Table 9 — Income Statements

Overall, profit is equal to the change in net assets, and it is there-
fore a measure of growth. There remain, however, reasons to find
other statements useful also. To illustrate, consider accounts receiva-
ble. Even though income is recognised whether or not cash has actu-
ally been received, it is always preferable to hold assets in the form
of cash rather than accounts receivable, because cash can be reinvest-
ed in the business, while receivables are unproductive assets and sub-
ject to the risk of customer default. Further, if you compare Company
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A with Company C, you will see that both have the same profit, but the
balance sheets of each have changed differently, and with different im-
plications for productive capacity and so for the future growth of the
company. Specifically, Company A has reinvested operating cash flow
into fixed assets, while Company C has divested fixed assets and used
the cash from this and from operating activities to repay bank loans.
Each company ends up with the same amount of net assets, but Com-
pany A has the larger business (more assets and also more liabilities).

Text 5
Summary of Part 2 in Unit 2

As we have seen, the financial statements capture the trail left by a
company’s growth. The cash flow statement reports the investing cash
flows made to expand the business, as well as identifying whether
those cash flows have been funded internally, from operating activity,
or externally, from financing activity. The opening and closing bal-
ance sheets report how each of the company’s assets and liabilities
have increased during the period, whether as a result of cash flows or
of accruals, such as depreciation. The income statement reports the
overall growth in equity resulting from profitable trading activity,
whether or not there is a corresponding change in cash.

While the financial statements can provide useful information and
insight, there will always, however, be questions that remain unan-
swered. Consider, for example, the lack of information inherent in
each of the following, where a reading of the financial statements can
help to identify issues that need to be explored but where the financial
statements themselves cannot provide unambiguous answers.

» The book value of fixed assets increases if capital expenditure
exceeds depreciation. It is reasonable to suppose that a company’s
productive capacity also increases in this situation. This need not nec-
essarily be the case, however, and in general a given percentage in-
crease in fixed assets need not equate to the same percentage increase
In productive capacity. There are several reasons for this. If, for ex-
ample, an asset has the same productive capacity throughout its life,
then even though the value of the asset declines with depreciation, the
productive capacity does not; capacity does not decline gradually, as
represented by the annual depreciation expense, but instead disappears
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abruptly and altogether when the asset reaches the end of its life. An
alternative scenario is that depreciation relates to installed assets of
one type, while capital expenditure relates to a new type of asset alto-
gether, representing a different technology with a different productive
capacity, or perhaps even relating to an entirely different product or
service. In such a case, a like-for-like comparison between capital ex-
penditure and depreciation cannot be made. In general, the change in
fixed assets recorded in the accounts is only a high level, potentially
ambiguous summary of acomplex combination of underlying changes.

» Many businesses do not have a significant investment in fixed as-
sets, and for such companies and many others, the value of fixed assets
on the balance sheet may not be a good proxy for productive capacity.
A services business, for example, is by nature less fixed asset intensive
than a manufacturing business. Any company may lease its assets ra-
ther than own them, with the effect that fixed assets are employed in
the business but need not show up on the balance sheet. Also, a compa-
ny may make significant investments that increase its capacity to gen-
erate revenue, but it may be unable to capitalise these, meaning that
they are reported as operating cash outflows and expensed, rather than
as investing cash flows, and so as fixed assets on the balance sheet. The
obvious examples are R&D and investment in the company’s brand.
For companies such as these, the income statement provides better in-
formation than the balance sheet on investing for growth.

 The financial statements can provide evidence of decisions made
by management, for example capital expenditure that has been under-
taken, or amounts that have been borrowed from the bank or raised
from shareholders. There is limited evidence, however, on the effec-
tiveness of those decisions. Capital expenditure is recorded at whatev-
er it cost to undertake, not at the value it might be expected to gener-
ate. The capital expenditure decision might have been a great one, or it
might prove to be a disaster. At the time that the decision is made, the
financial statements are silent on the likely success of the project, and
information on this must be sought elsewhere. This is a theme that we
will return to in Chapters 6 and 8.

In general, the financial statements provide only part of the story.
They capture the financial consequences of decisions, so enabling the
reader to analyse the growth of the company, but they probably also
prompt more questions than answers. This theme will be picked up
again in the next chapter, which concerns the analysis of value creation.
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